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TEST |

1.1. 3aBnanus Find all adequately translated sentences and fill in the gaps with their numbers
in ascending order without punctuation marks:

#1. Slxmio O BiH OLNIbIIIe HIKABUBCS THM, 10 TOSCHIOIOThH HA YPOIIi, BiH MIT OM BIAOBICTH Ha
1€ MUTAHHA. (.vvvvvvnnnnnnnnn )
1) If he were more interested in what is explaining during the lesson, he would can answer this
question.
2) If he were more interested in what is being explained during the lesson, he could answer this
question.
3) If he were more interested in what is explained during the lesson, he would be able to answer
this question.
4) If he were more interested in what was explaining during the lesson, he could answer this
question.
5) If he had been more interested in what is explaining during the lesson, he would be able to
answer this question.

#2. lllkona, 110 BaM JOBENOCS pOOUTH BCE CAMOMY. (..uvuvennennn.... )
1) It is a pity you must have done everything by yourself.
2) 1 wish you had not had to do everything by yourself.
3) It is a pity you had to do everything by yourself.
4) 1 wish you had not to do everything by yourself.
5) I wish you mustn't have done everything by yourself.

#3. SlkOm BOHM Kpalle pO3MOBISUIA SIIOHCHKOIO, HIXTO O HE 3amepedyBaB, MO0 BOHHU
3ycTpivanu aenerarito 3 SAmnoHii. (............ )
1) If they spoke Japanese better, nobody would mind their meeting the delegation from Japan.
2) If they speak Japanese better, nobody would be against that they meets the delegation from
Japan.
3) If they spoke Japanese better, nobody would object to their meeting the delegation from Japan/
4) If they will speak Japanese better, nobody would be against their meeting the delegation from
Japan.
5) If they would speak Japanese better, nobody had objected to their meeting the delegation from

Japan.
#4. Uepe3 Te, MO S HE TMOIMEPEAUB CBOTO TOBApPHWINA MPO 3YCTPid 1€ pa3, S HE Mir
CIOJIIBATUCS, 1110 BiH MPUKAIE BUACHO. (..ecvvvernnen. )

1) Having not warned my friend about the meeting again I could not expect him coming in time.
2) Do not having warned my friend about the meeting again I could not expect him come in time.
3) Not having warned my friend about the meeting again I could not expect him to come in time.



1)

1)
2)
3)
4)
5)

4) Not being warned my friend about the meeting again | was unable to expect him to come in

time.

5) Without warning my friend about the meeting again | could not expect him coming in time.
#5. Xiba MM He TOBOPWJIM, IO HE 3alepedyBaTHMEMO, a0M KOXKHE MHUTaHHS JTOKJIAIHO

00roBOPIOBAIH, TIEPII HIK MPUUMYTh OCTATOYHE PIIIEHHS? (............... )

1) Didn't we say that we should not mind every issue being discussed in detail before the final

decision would be taken?

2) Didn't we say that we should not object to every question being discussed in detail before the

final decision had been taken?

3) Did we not say that we shall not object to every question being discussed in detail before the

final decision had been taken?

4) Did we not say that we should not mind every issue being discussed in detail before the final

decision had been taken?

5) Didn't we say that we should not mind every issue to be discussed in detail before the final

decision would have been taken?

1.2. Choose the correct equivalent of the underlined fragment of the sentence or fill in the
gap with (a) correct word(s) and write in the proper number:

#1. The doctor was (...) the point of leaving. He promised to call on in the morning again.
1) in; 2) on; 3) after; 4) around; 5) off

#2. The boy is always getting into scrapes because of his lack of discipline. (...)
1) cracking jokes; 2) getting frightened; 3) looking for a shelter; 4) in low spirits; 5) getting into
trouble

#3. She_is always on the go. | don't know where she gets her energy from. (...)
1) has much work to do; 2) is very active and energetic; 3) has sense;
4) hangs about; 5) has to act

#4. She was so (...) with grief that I could hardly distract her.
1) overwhelmed; 2) puzzled; 3) perplexed; 4) full; 5) occupied

#5. The robbers planned to (...) but they failed.
1) take everyone by surprise; 2) take everyone with surprise; 3) take everyone in surprise; 4)
take everyone into surprise; 5) take everyone of surprise

1.
2.1. Hageoimb npasunviy 6i0nogios (6i0noeioi) ma 3anuwime ¢ionosionuii nomep (Homepu)
Y ROPAOKY 3POCHAHHA
#1. Sentences in which the subject or the predicate is contextually omitted are...
1) one-member; 2) unexpanded; 3) elliptical; 4) kernel
#2. The transformation of nominalization converts the kernel sentence into a...
1) compound sentence; 2) noun-phrase; 3) nominative sentence; 4) elliptical sentence
#3. Which part of speech in the history of English had three numbers?
the adjective; 2) the possessive pronoun; 3) the personal pronouns; 4) the noun; 5) the verb;

#4. The growth of analytical grammatical forms from free word phrases belongs
partly to historical morphology and partly to syntax;
to the weakening of some nouns;
to transforming the morphology of all the parts of speech;
to strengthening the word-order;
to changing the meaning of some verbs;

#5. Hypotaxis and parataxis are two principal types of the construction of...
1) composite sentence; 2) compound sentence; 3) expanded-simple sentence; 4) complex
sentence



1)

1)

1)
2)
3)
4)
5)

2.2. Hagedimv npasuivbHy 6i0nogios (6i0noesioi) ma 3anumims 6i0nosioHuil Homep (Homepu)
Y ROPAOKY 3DOCMAHHA:

#1. Subject, predicative and object clauses are of...
1) primary nominal position; 2) adverbial position; 3) secondary nominal position; 4) one-
member sentences

#2. Case, tense, mood, aspect and voice are examples of
1) grammatical (morphological) categories; 2) grammatical paradigms; 3) grammemes
(grammatical forms); 4) grammatical oppositions

#3. In building grammatical forms OE mostly employed
word order; 2) suppletive formation; 3) grammatical prefixes; 4) inflections; 5) sound
interchanges;

#4. The phonetic process which is determined as the change of one vowel to another
through the influence of a vowel in the succeeding syllable is
mutation; 2) diphthongization; 3) breaking; 4) splitting; 5) palatalisation

#5. The most common view on the problem of case in English nouns recognizes two cases:
a common case and a possessive (genitive) case. This view is called ...
1) theory of positional cases; 2) theory of prepositional cases; 3) theory of analytical cases;
4) limited case theory
Il.
3.1. Hagedimv npasunvhy 6i0noeiov (6i0noeioi) ma 3anuwuimos 6ionoeionui nomep (Homepu)
Y ROPAOKY 3DOCHIAHHA

#1. AHTIIO-CaKCOHCHKHIA TIEPi0J] B ICTOPIT aHITIICHKOT JIITEpAaTypy TPUBAB

1) Bix 500 p. go 1500 p.

2) Bix 1066 p. mo 1500 p.

3) Bix V ct. 10 1066 p.

4) Bin 449 p. mo 1154 p.

5) Bix 1066 p. mo 1599 p.

#2. ,,Komyc”, ,,Ha 3axuct anrmiiicekoro Hapoay”, ,,CaMcoH-00pels”’ HalexXaThb
1) Binpsamy llexcnipy
2) I'enpi @inginry
3) Jxony MiunbToHy
4) beny JI>koHCOHY
5) MQxony Jpaiineny
#3. IIpoBinHUM HANPSIMOM paHHbOTO [IpocBITHUITBA B AHIJIIT BBOXKAIOTh
MPOCBITHUIIBKUN KIACHUITU3M
CEeHTUMEHTAJII3M
MPOCBITHULIBKUH peatizm
HEOPOMaHTU3M
nepepOMaHTH3M

#4. [lepiiuM aHTII0CAaKCOHCHKUM PENIITiHHUM MOETOM BBa)KalOTh
1) Ankyina
2) Kenmona
3) beny I[IpemogoGHOTO
4) aBTopa beoBynnpa
5) xedpi Yocepa
#5. HaiiBimomMimmMu npeIcCTaBHUKAMU aHTITIHChKOI TiTeparypu XIV cT. Oynn
1) Binbsam MansmcOepilicbkuii
2) Mapis ®@paniry3pka
3) xon I'ayep



1)
2)
3)
4)
5)

1)
2)
3)
4)
5)

1)
2)
3)
4)
5)

1)
2)
3)
4)
5)

4) Ixedpi Yocep
5) Tomac Memnopi
3.2. Hagedimv npasunvhy 6i0noeiov (6i0noeioi) ma 3anumuims 6ionogionuil Homep (Homepu)
¥ HOPAOKY 3DOCHAHHA
#1. BkaxiTh, XTO 3 HABEJICHUX aHTIINCHKUX POMAHTHKIB HAJIEkKaB 10 ,,O3epHOI MIKOIU™
1) C. Konpimx
2) IL.b. emmi
3) B. Bopacsopr
4) P. Cayri
5) B. Ckorr.

#2. B Mexxax sIKOTO JIiTepaTypHOTO HalpsiMy po3BuBajacs TBopuicts Y. JlikkeHca,
E. l'acken, I11. Bponre, B. Texkepes?
CEHTHUMEHTAIII3M
POMaHTH3M
KJIACUYHHI peaizm
HaTypaiizm
MOJICPHI3M.

#3. Ha3BiTh TphOX LIEHTPAJILHUX NIEpCcOHaXIB pomany B. Tekkepes ,,SIpmapok cyern’:
Emini Cemi
Binbsam J1066iu
Centimyc CmiT
CriBen [lenanyc
Pe6eka Hlapn

#4. BKaxiTb, XTO 3 HaBEICHUX MMCbMEHHMKIB OCTaHHbBO1 TpeTUHHU XIX CT. 3Be€pTaBcs 10
JKaHPY eTEKTUBHOI HOBEIIU:
O. Baiinn
T. l'apni
A. Konan [oiin
Jx. Konpan
C. batnep.

#5. Ha3BiTh aHrmicbkux apaMatypriB XX CTOMITTS:
B. Byng
Jx. Toncyopci
b. Illoy
I'. Beme
I". [TinTep.

TEST 11
I
1.1. 3aBaanns Find all adequately translated sentences and fill in the gaps with their numbers
in ascending order without punctuation marks:
#1. IlIxona, 10 HAM HE BIIPEMOHTYBAJIN aBTOMOOUIS L€ TOPIK. (vevvervvennenne )
1) 1 wish we had had our car repaired as far back as last year.
2) | wish we had not had our car repaired as far back as last year.
3) I wish we were repaired our car as far back as last year.
4) It is a pity we did not have our car repaired as far back as last year.
5) I wish we have had our car repaired as far back as last year.



#2. Miii A1bKO XOTiB, 11100 HOTO TEJIEBI30P BiIPEMOHTYBAJIH /10 TOTO, SIK MOYHETHCS YEMITIOHAT
CBITY 3 IJTABAHHA. (............... )

1) My uncle wished to have his TV set repaired before the world swimming championship began.
2) My uncle wished to have his TV set repaired before the world swimming championship would
have started.

3) My uncle wished to have his TV set being repaired before the world swimming championship
has begun.

4) My uncle wished that he should have his TV set to be repaired before the world swimming
championship begins.

5) My uncle wished his TV set to be repaired before the world swimming championship started.
#3. 3a jikapeMm Mociaiy BiApasy Miclis TOTO, SIK XJIOMIUK 3aXBOPIB. (..eccvveeeesn. )

1) The doctor was sent for right after the boy had fallen ill.

2) The doctor has been sent for right after the boy had fallen ill.

3) The doctor was being sent for right after the boy fell ill.

4) The doctor was sent for right after the boy having felt ill.

5) The doctor have been sent for right after the boy fell ill.

#4. SIxkOu BiH HE 3MYCHB HAc pOOHMTH BCIO IO pOOOTY Bizpa3y, ii 0 BUKOHAIM 3HAYHO KpaIIle.

1) If he had not made us to do all this work at once, it would have been done much better.

2) If he had not made us do all this work at once, it would have been done much better.

3) If he had made us to do all this work at once, it would have been done much better.

4) If he were not making us do all this work at once, it would have been done much better.

5) If he has not made us do all this work at once, it would have been done much better.

#5. BaM goBenocs mepekiacTu Bech Iiei TeKCT camomy? Ham ciin 6yno po3AiiuTH HOro Mix
COOO0K0. (eervvrrvrrunens )

1) Had you to translate the whole text by yourself ? We ought to have divided it among ourselves.
2) Did you have to translate the whole text by yourself ? We should have divided it among
ourselves.

3) Must you have to translate the whole text by yourself ? We should have divided it among
ourselves.

4) Did you have to translate the whole text by yourself ? We ought to have divided it among
ourselves.

5) Had you to translate the whole text by yourself ? We ought have divided it among ourselves.

1.2. Choose the correct equivalent of the underlined fragment of the sentence or fill in the
gap with (a) correct word(s) and write in the proper number:

#1. The Browns are deeply in debt because they live beyond their means. (...)

1) are unemployed;

2) spend more money than they can afford;

3) live from hand to mouth;

4) refuse to pay their rent;

5) borrow a lot of money from their friends

#2. The family were so wretchedly poor that white bread (...) in milk was a real feast to the
children.

1) wet; 2) damp; 3) soaked; 4) drenched; 5) drowned

#3. Burglaries seem to occur in this area with alarming (...) .

1) frequent; 2) frequently; 3) frequency; 4) infrequency; 5) frequentation

#4. Excuse me, but I think you've got your pullover on (...).

1) doubled up; 2) in reverse; 3) inside out; 4) upside down; 5) in the converse

#5. Remember that trains never start late, they always start (...).

1) on time; 2) in time; 3) at the last moment; 4) ahead of time; 5) in the nick of time




1)
2)
3)
4)
5)

1)
2)
3)
4)

1)
2)
3)
4)
5)

1.

2.1.Haeeoimb npasuivhy 6i0noeiov (6ionosioi) ma zanuuiime 6ionosionui nomep (Homepu)
Y ROPAOKY 3POCMAHHA

#1. The distributional analysis is applied to reveal:

1) loss of meaning of meaning

2) sameness of meaning

3) difference of meaning

#2. What is the purpose of the teacher who says during the class: “Stand up and ask your group-
mates as many questions as you can in five minutes.”

1) organizing a mingling activity

2) asking for clarification

3) drilling

#3. Choose the correct teacher's instruction for a listening comprehension task with an
intermediate class:

1) Right, now everybody, please pass your paper to the person on your left. Then read and reply
to the message.

2) The man gives lots of reasons why he is late. Write down three of them.

3) Petro, turn away from Nastia so you can't see her text.

#4. Define the type of mistake that is contained in the following sentence: “I also want the house
being big and strong”

1) spelling

2) punctuation

3) use of verb forms

#5. The Ruthwell Cross is famous for:

being the highest cross of the Ancient Times

being written in the Mercian dialect

being a lyrical poem “The Dream of the Rood”

having runic inscriptions engraved on it

using new additional runes

2.2. Hagedimb npasunvhy 6i0noeios (6ionoeioi) ma zanuwims 6ionosionuii homep (Homepu)
Y ROPAOKY 3POCHMAHHA

#1. What phonetic phenomenon is illustrated by the following pairs of words:
Gt bata > OE bat; Gt manna >OE mon?

diphthongization

breaking

voicing

hardening

5) gradation or splitting of the root vowel

#2. Which part of speech in the history of English had three numbers?

the adjective

the possessive pronoun

the personal pronouns

the adverb

the verb

#3. The synthetic and analytical forms of the Subjunctive Mood are ...

1) contextual synonyms

2) paradigmatic synonyms

3) absolute synonyms

4) homonyms



#4. The prefixes in-, im-, il-, ir-, having a negative meaning are (invariable, impartial, illiterate,
irregular, etc.) are

1) replacive morphemes

2) free morphemes

3) segmental morphemes

4) allomorphs

#5. The syntactical-distributional principle of classifying words into word-classes was elaborated
by

1) Otto Jespersen

2) Henry Sweet

3) Charles Fries

4) Noam Chomsky

1.
Hagedimb npasunvhy 6ionoeiov (6i0noeioi) ma 3anuuwiime 6iON0GiOHUI HOMED
(Homepu) y nopaoky 3pocmanns:

#1. HaliBugaTHimmii aHTTIHCHKUNA TYMaHICT mepinoi mosioBuHA X VI cT. 11e —

1) Epa3sm PorTepnamcbkuii

2) Tomac Mop

3) Enmynn Cniencep

4) Binbsm Lekcrmip

5) ®inin CingHi

#2. ABTOpaMu JIATHHOMOBHHX ICTOPUYHUX XPOHIK aHIJIOHOPMAHCHKOTO MEPioay €
1) bena I[penogoOHmit
2) Bac
3) Tanbdpiax MoHMYTChKHIA
4) Binbsm ManbmMcOepiiicbkuit
5) PobGep ae bopon

#3. Ha3Bith aBTOpa noemu ,,Koponesa ¢eit”
1) JIx. Jlimi
2) @. Cigni
3) E. Cnencep
4) K. Mapio
5) T.Hem

#4. Cepen xanpiB TBopuoi ciaaunau Binbsama lekcmipa €
1) aneropuyuHi noemu, Oanaau

2) KoMeii, Tpareii, emirpaMu

3) Tparenii, coneTH, $adiIbo

4) TparikoMeii, COHETH

5) xomenii, Tparemii

#5. ABtopowm ,,Ilicens HeBuHHOCTI” 1 ,,IliceHp mOCBiNY” €
1) B. baeiix
2) C. Konpimx
3) B. Bopacsopr
4) JIx. Kitc
5) P. Cayri

3.2. Hasedimv npasunvhy 6i0noeios (6i0noeioi) ma 3anuwuims 6ionogionuii Homep (Homepu)



1)
2)
3)
4)
5)

1)
2)
3)
4)
5)

1)
2)
3)
4)
5)

Y HOPAOKY 3pOCMAHHA
#1. 1o xynoxuboi cnammuan J[x.I. Balipona HanexaTh HACTYIIHI TBOPH:
1) moema ,,Jlon XKXyan”
2) wmicrepis ,,Kain”
3) powmas ,,Po6 Poii”
4) moema ,,Kopcap”
5) moema ,,Koposesa Ma6”.

#2. BKaxiTh, XTO 3 HABEJICHUX aHTIINChKUX MUCbMEHHUKIB XIX CT. MHcaB MOETUYHI TBOPH T
nceBIoHIMOM OpartiB bemmis:

E. l'acken i I1I. Bponre

Jx. Emiot 1 E. Tposon

cectpu bpoHte

P. bpayniur, E. bpayninr

U. Hixkenc i B. Texkepeit.

#3. Ha3BiTh npencTaBHUKIB aHTIIIHCHKOTO peanictuynoro pomany 70-90-x pp. XIX cT.:
Y. JlikkeHc

Jlx. Mepenit

B. Tekkepen

C. batnep

T. Tapmi.

#4. Jlo xynoxuboi ciaamuuu [. Bo Hanmexars Taki TBOpH:
1) ,,bina masma”, ,,Cpibna joxka”, ,,JlebeauHa micHs”
2) ,,’Kostuit Kpom”, ,, Koutpanyukr”, ,,l{eit AMBOBMKHHII HOBHIA CBIT”
3) ,.JIpuroau OmniBepa Ticta”, ,,Jeiiin Konnepoing”, ,,Benuki ciogiBanus”
4) ,Mep3zenna wiots”, ,, JKMenst npaxy”, ,,3aHenan i pyiHaiis”
5) ,.Marwuna vacy”, ,,BiitHa cBiTiB”.

#5. BKkaxiTh, K1 3 HaBEJIEHUX TBOPIB HAJIEXKATh JIO XyJOKHBOI ciaaimuau A. Mepok:
,»JOpHUI IpHUHIL”

,», | IXUI aMepHuKaHenp”

»llamyra ®maobepa”

,,111]T CITKOFO”

»Komekiionep”.

IMPUMITKA : 3aBnanns yactunu I ouinwowrtbes B 4 6an(u), yactunu I — 4 6an(u),
yactunu III — 2 6an(n).

KJIIO41
JI0 3pa3KiB TECTOBUX 3aBJaHb

TECT 1

1.1.- 23,23,13, 3,24
12.-2,52/1,1

31.-3,3,1,2,34



3.2.— 134, 3,125, 3, 235

TECT II

11.- 14,15/1,2,24
12.-2,3,3,3,1
21.-3,1,2,3,4
22.—-5,3,2,4,3

31.-2,34,3,45,1
3.2.— 124, 3, 245, 4, 14



